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Tunopasmep MOWHOCTL | Aonycraenmsi . HOCOCHOM | Hanpaixenvie
(06/MUH) S - Mehes

AM32-3,15/5 3,15 | 0,875 5 24(1450) 0,122 2.8 - 0.5 35 220/ 380
AM32-3,15/12,5| 3,15 | 0,875 | 12.5 | 48(2900) 0.282 2.8 - 0.5 38 220 / 380
AM32-6,3/20 6.3 1,75 20 | 48(2900) 0715 2.8 0.35 0.8 48 220/ 380
AM32-5/28 5 1.39 28 | 48(2900) 1.19 2.8 0.35 0.8 32 220 / 380
AM32-6,3/32 6.3 1,75 32 | 48(2900) 1,57 2.8 0.35 0.8 35 220/ 380
AMS0-8/3 8 2,22 3 24(1450) 0.15 2.8 - 0.5 43 220 / 380
AMS50-10/16 10 2,78 16 | 48(2900) 0.87 2.8 0.35 0.8 50 220/ 380
AM50-10/45 10 2,78 45 | 48(2900) 3,06 3.0 0.35 0.8 40 220 / 380
AMS50-12,5/20 | 12,5 | 3,47 20 | 48(2900) 1,237 3.0 0.35 0.8 55 220/ 380
AMS0-12,5/32 | 12,5 | 3,47 32 | 48(2900) 1,98 2.8 0.35 0.8 55 220 / 380
AMS50-12,5/50 | 12,5 | 3.47 50 | 48(2900) 3.87 3.0 0.35 0.8 a4 220 / 380
AMS50-16/12.5 16 444 | 12,5 | 48(2900) 0,97 3.0 0.35 0.8 56 220/ 380
AM65-12,5/8 12,5 | 3.47 8 24(1450) 0.5 3.0 0.35 0.8 55 220 / 380
AM65-20/25 20 5,56 25 | 48(2900) 2,48 3.0 0.35 0.8 55 220 / 380
AM§5-25/32 25 6.95 32 | 48(2900) 3,63 3.0 0.35 0.8 60 220 / 380
AMB0-25/8 25 6.95 8 24(1450) 0,834 4,0 0.35 0.8 65 220/ 380
AMB0-45/28 45 12,5 28 | 48(2900) 5,28 4,0 0.35 0.8 65 380
AMB0-50/32 50 13.9 32 | 48(2900) 6,23 4,0 0.35 0.8 70 380
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